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General Answer Format:

Each Sudoku has two marked rows
or columns. You need to submit all
digits in the corresponding
directions, from left to right or from
top to bottom.

In the example, the two answer
keys are:

1A: 367594218
1B: 283749165

All puzzles will use digits 1-9 in the
submission.

Submission Page:

http://gp.worldpuzzle.org/content/
sudoku-gp

Version:

"

o>

BHINNJO | O |00 WOl
R O OIN P~ WIN O |©

DO WOIO | OINHA~ N
NI NOLIA WOl 01|00
O WIN|FPO|N O O
0O RO | NJOalw &~
W FLOJIO1T|O N (N |
OO NIW O|~jOT N
~N OB INDNOJO 00| W

This is version 1 of the instruction booklet.

Points:

PR ooV NOUDNWN =

TOTAL:

Classic Sudoku
Classic Sudoku
Classic Sudoku
Classic Sudoku
Classic Sudoku
Overlapping Sudoku
Diagonal Sudoku
Odd Sudoku
Nonconsecutive Sudoku
Fortress Sudoku
Mathdoku

Pointing Differents Sudoku

Fuzzy Arrows Sudoku
Lonely Number Sudoku
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12
12
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54
44
47
21
68
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77
60
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1-5 Classic Sudoku
Place a number from 1-9 in each empty cell in the grid such that each row, column and marked 3x3
box contains each number exactly once.

Example Solution
118 214 59 1|18 6(2]4|7 3
6 9 1 36 7|5 9/412/1 8
8 9 82 411 7/3]6/5 9
1 9 8 5 6 113 2|9 8|5]7|4 6
4 3 / 8 64 5|3 17|98 2
9 412 6 1 9|7 8l4 2(/6]5/3 1
7/ 4 /7159]|6 3|/1]|8|2 4
8 4 6 28 3|7 4/9]|1|/6 5
6|2 8|3 411612 5/8]13|9 7
6 Overlapping Sudoku
Apply classic sudoku rules. Additionally two grids are overlapping.
Note: Only in this puzzle answer keys consists of 10 numbers.
Example Solution
5 917 84/511/2/9]|7/6]|3
| |4 6/7[2]518[3]|971]4]6
91311 ! '8 913|1]14.:6 7]2:8|5]|9
Lo 14 L 3/9/8]6!1.5]|4:2/7(3]
2" 141 ! 71116]12,9 4|15,3|8]7
2 '3 19 215/4[7,3 8]6,9/1]2
Al L3 8L 4/81319,7 211,5/6]4,
7| . 6] | 112]7]8:5 6]3:4 /9|1
6 I 81 |2 516|/913.4/1]8.7(2]5
] ] 4/5[1,2/9]|7,6|3]|8
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7 Diagonal Sudoku
Apply classic sudoku rules. Each marked diagonal must also contain each number from 1-9 exactly
once.

Example Solution
B L] 6.1 2|7|5 4|9 3|8
6 9 3 7 5|6|9 8]4 2|1
413 116 89 4|32 1|6 5|7
6 3 2 1 96 3|8/4 7|12 1|5
5 8 4 5 119|3/2]7 8|6
2 8 4 /12 8|16 5]3 49
915 3|1 2/ 8 9|15/7 3|1, 6|4
B 286 B 1 4 7|28 6[59/3
| | 53 6[l4/1 9|8 72
8 0dd Sudoku
Apply classic sudoku rules. Numbers placed in shaded cells must be odd.
Example Solution
6 9|7 1 8|6[9]19|7/3|2]|1]4
4 5 8 41118l6(2]5[9]7]8
2 79211 4]s8|6]3][5
1 6 5 112]7]36]4|8]|5|9
6 2 9 7 6|5(812|1/9(|3]|4|7
4 8 2 314/915|8|7|1/6)|2
4 2/ 8/ 6[7/5[1]14[9]|3
9 8 1 9|/7,4|8|3|6|5 (2|1
3 9|2 8 5/3/114/9/2|7/8|6
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9 Nonconsecutive Sudoku
Apply classic sudoku rules. Numbers placed in adjacent cells must not be consecutive.

Example Solution
2 3 8 1 4 2 713/6 8/5/ 1|9
8 1 4 86 3|9/ 15|2 7|4
5 91|74 2|16 3|8
/ 3 /719152 6|4 83
8 2 3 85|17 4|9 2|6
6 1 6 42|83 9]7 5|1
2 7 4|16/8 3|1 9|5
9 S / 93 6|25 1|8 4|7
S 4 / 6 15 8|49 7|3/ 6|2

10 Fortress Sudoku
Apply classic sudoku rules. A number placed in a shaded cell must be strictly greater than numbers
placed in adjacent unshaded cells.

Example Solution
8 4 1 3 85|94 7126 1
9 6 3 9 1/7|6 2 3|4 5 8
2 3 46/ 2|8 15|39 7
3 1 731412 8 6|9 1 5
8 4 8 2115 3 9|6 7 4
5 2 6 5914 71|18 2 3
3 S 119/3|7 6/ 8|5 4 2
1 2 6 5 48|19 2|7 36
2 S 8 2 /7 6|3 54|18 9
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11 Mathdoku
Apply classic sudoku rules. In a box 4 results of 4 mathematical operations are given, one of them is
sum, one is difference, one is multiple and one is division of the two neighbouring digits.

Example Solution
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12 Pointing Differents Sudoku
Apply classic sudoku rules. Numbers outside the grid indicate the number of different numbers
placed in the cells in the corresponding diagonal direction.

Example Solution
NAPAV VAP AP AP AP AP
17 9 8 \A6|7/4]|3/9|2|5|8]1
‘W8 7 6 ‘\J8!31|5|7/4[2]9]6
i~ 1] |6 ‘\Jol2 5|1]/8|6|4]3]|7
N 6|8 |97 \[4]1/6]|8]3|9[7]5]|2
NEIE 4 68|, 215797141368~
3[2] [5]9 N, 718 3216|5914~
4] |3 N, 5/6/2]4[1]3[8]7 19|~
1 5 3N, 114 7|9|5/8]6[2]3|~
9 2 41 N, 319 8le|2/7|1]4|5[
6/6/5/3/3/ \6 6/ 6/5/3/3/ \
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13 Fuzzy Arrows Sudoku

Apply classic sudoku rules. Exactly one circle should be added on each grey line. One or two arrows
should be drawn at all loose ends of each grey line then. Finally solve standard arrows sudoku. A
number placed in a cell with a circle must be the sum of the numbers placed in cells the adjoining
arrow passes through. Numbers may repeat on arrows.

Example Solution
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14 Lonely Number Sudoku

Apply classic sudoku rules. There are 80 numbers in the grid that fulfill a following condition: each of
these happy numbers has a consecutive friend in a cell sharing an edge with it. There is exactly one
lonely number in the grid that doesn’t have a consecutive friend next to it.

Example Solution

9 6 4 8 2 9/7/613|4/1]18|5]|2
3 5 2 6 8|3[415|7(2]|9|6 |1
51 [1] 8] [|3] |7 5/2/1]|9/8/6(3]4(7)
8 3 68911271435
7 3 2 6 7151318941216
4 9 114|2|6|/5|3[7|9]|8
2 5 3 6 9 2/1/514|3/8|6|7|9
6 2 9 8 416(712|1/915/8]|3
3 8 6 1 4 3|9(817|6[5[1]24




